Topec:

i

7.

9.

10.

Date

ﬁoumnn Thacmm « Workshaet 3

Ron drives s car 30 km east and than 250 o scuth. MHow far is ke from his
starting pant?

Using the Pythagoerean Thacmm, find the area of an equilterd trangle whose
e mediures Tunits. Fd the dred o he Avdards Mtk of 2 square unit.

If e legs of an iscscels rght thangle am 10 inches ag, dapproximate the
length of the hypotinus e o the reaest whok num ber

Tom rides his Bke 35km noeth and than 450 km east. How far & ha from hes
starting poamt?

If a g of athdangle is 30 R kbng, and ancther lag is SE N long, whae is the
length of tha hypotanuse?

A peol s inthe shape of 4 square of sdes 57 et What is s hypotenusa?

If & side of atrangle is 20 R long, and ancthar side 15 43 R kg, what isthe
length of the hypetenuse?

Town A 6 34 miles from own 8, and 20 mies from own C. Town A B and C are

ferming a nght trhangle at A A road connedts towns B and Cdirectly. And the
length of this recad.

Find the baght of an equiliteral thangle whese Sde measures S6 on

A Box isin the shape of 4 square of sides 32 ¢ What & It hypobenuse ?
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